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Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 
ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling mistakes, 
untidiness and illegible handwriting. The figures in the 

margin indicate full marks. 

 
 

◊[˝\ˆÁG — Eı 

Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 20 × 1 = 20 

1. (a) EıÁÃ[˝[˝Á„Ã[˝Ã[˝ Y“„Ã̂ ÁLX›Ã^ =YÁVÁXm◊_ Eı› ? ae„l˘„Y 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (b) ]«XÁZıÁ %L¤Xc˜O ◊Eı EıÁÃ[˝[˝Á„Ã[˝Ã[˝ AEı]Áy _l˘Ó c˜CÃ^Á 

=◊ªJÙTˆ ? 12 + 8 

2. (a) EıÁÃ[˝[˝ÁÃ[˝› Y◊Ã[˝„[˝` Eı› ? 

 (b) EıÁÃ[˝[˝ÁÃ[˝› Y◊Ã[˝„[˝„`Ã[˝ ◊[˝◊\ˆ~ =YÁVÁXm◊_ Eı› Eı› ? 

   6 + 14 

◊[˝\ˆÁG — F 

Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 2 = 24 

3. \ˆÁÃ[˝„Tˆ a][˝ÁÃ^ a◊]◊TˆÃ[˝ [˝Tˆ¤]ÁX %[˝ÿöˆÁ C \ˆ◊[˝bÓd aïˆÁ[˝XÁ 

a∂ëˆ„μ˘ ◊[˝ÿôˆÁ◊Ã[˝Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

4. (a) ◊`î Ã[˝”G¬TˆÁ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 

 (b) ◊`î Ã[˝”G¬TˆÁÃ[˝ EıÁÃ[˝Sm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 

5. EıÁÃ[˝[˝Á„Ã[˝ aÃ[˝EıÁÃ[˝› ◊XÃ^‹óˆ„SÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

◊[˝\ˆÁG — G 

Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 1 = 6 

6. ªRÙOÁEıÁÃ[˝ [˝ÁLÁÃ[˝ C ]…_W˝„XÃ[˝ [˝ÁLÁ„Ã[˝Ã[˝ YÁUÔEıÓ ◊_F«X* 

7. Â^ÏU Âl˘‰yÃ[˝ È[˝◊`rÙÓm◊_ Eı› ? 

8. %G–Á◊W˝EıÁÃ[˝ Â`Ã^ÁÃ[˝ EıÃ^ Y“EıÁÃ[˝ C Eı› Eı› ? 
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Group – A 

  Answer any one question. 20 × 1 = 20 

1. (a) What are the important elements of 

business ? Discuss in brief. 

 (b) Should the profit earning be the only 

objective of business ? Discuss. 12 + 8 

2. (a) What is business environment ? 

 (b) What are the different elements of business 

environment ? 6 + 14 

Group – B 

  Answer any two questions. 12 × 2 = 24 

3. Discuss, in detail, the present condition and 

future prospects of cooperative societies in India. 

4. (a) What is meant by industrial sickness ? 

 (b) Discuss the causes of industrial sickness. 

   4 + 8 

5. Discuss the utility of government control over 

business. 

Group – C 

  Answer any one question. 6 × 1 = 6 

6. Distinguish between money market and capital 

market. 

7. What are the features of joint sector ? 

8. How many types of preference shares are there 

and what are these ? 
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